

Republic of the Philippines Department of Education

Cordillera Administrative Region SCHOOLS DIVISION OF BAGUIO CITY

REQUEST FOR QUOTATION

Standard Form No.:SF-GOOD-60 Revised on: May 24, 2004

Standard Form Title: Request for Quotation

Supplier:	Requesting Unit:N.Tibangay/SGOD
Address:	PR No.:2024-11-352
Telephone No.:	Quotation No.: 2024-12-321
e-Mail:	Date: December 5, 2024
Delivery Period:	ABC: 147,077.85
Date Received by the Supplier:	

Failure to submit this on or before the due date aforestated will be a ground for disqualification.

(on leave)
CARMEL F. MERIS

OIC-Assistant Schools Division Superintendent Chairman, Bids and Awards Committee

> NIÑO M. TIBANGAY BAC Vice Chairperson

REQUIREMENTS:

- 1. Mayor's / Business permit
- 2. PhilGEPS registration number or certificate
- 3. Omnibus Sworn Statement if above 50,000.00
- 4. Income/Business Tax Return 500,000.00 and above

Note:

- ✓ Submit RFQ together with the requirements.
- ✓ All entries must be typewritten or legibly written.
- ✓ Delivery period within _____ Calendar Days.
- ✓ Price validity shall be for a period of <u>30</u> Calendar Days.

	Thee valuely shall be for a period of <u>so</u> calcing at <u>say</u> .					
Item No.	Qty.	Unit	Item Description	ABC	Unit Price	Total Price
1	1.00	lot	Mobilization/Temporary Structures, Utilities and Services/Demobilization 468.59 x 1 = 468.59			
2	1.00	lot	Safety and Health	1548 x 1 = 1548		
3	1.00	lot	Project Billboard	4891.6 x 1 = 4891.6		
4	200.00	sets	Scaffolding Rental	60 x 200 = 12,000		
5	68.79	sq m	Removal of Roofing Sheets	9.00 x 68.79 = 619.11		



Republic of the Philippines

Department of Education
Cordillera Administrative Region
SCHOOLS DIVISION OF BAGUIO CITY

			SCHOOLS DIVISION OF BAG	OIO CITT	
6	98.40	lm	G.I. Long-Span Roofing, Corrugated, Pre-Painted, 1220mm x 0.5mm	624.00 x 98.40 = 61,401.6	
7	5.00	рс	Removal of Ridge Roll	18.00 x 5 =90	
8	12.00	рс	Removal of Flashing	18.00 x 12 = 216	
9	10.00	рс	Removal of Gutter	18.00 x 10 = 180	
10	1,000.00	рс	Teckscrew 2-1/2"	2.40 x 1,000= 2,400	
11	247.00	рс	Blind Rivets	1.62 x 247 = 400,14	
12	5.00	рс	G.I. Ridge Roll, Preformed, Pre-Painted, 0.610m x 2.440m x 0.6mm BMT	648.00 x 5 = 3,240	
13	6.00	рс	G.I. Flashing, Preformed, Pre-Painted, 0.610m x 2.440m x 0.6mm BMT	960.00 x 6 = 5,760	
14	96.50	l.m	Ceiling Eaves (use spandrel 7" width)	135.00 x 96.50 = 13,027.50	
15	2.00	pcs	1.5"x1.5" angle bar 1261.00 x 2 = 2,522		
16	3.00	pcs	C-purlin (2" x 10") metal facia board	1573.00 x 3 =4,719	
17	1.00	kg	3" Common nail	108.00 x 108 = 108	
18	1.00	gal	Primer, Red Oxide	546.00 x = 546	
19	1.00	gal	Quick Drying Enamel	1133.00 x 1 = 1,133	
20	1.00	рс	2" paint brush	60.00 x 1 = 60	
21	2.00	pcs	2"x3" C-purlin	663.00 x 2 = 1,326	
22	15.00	рс	Metal Carrying Channel (12mm x 38mm x 5m x 0.8mm thk	182.00 x 15 = 2,730	
23	2.00	kg	welding rod	195.00 x 2 = 390	
24	1.00	kg	1" concrete nail	130.00 x 1 = 130	
25	5.00	pcs	Wall angle	156.00 x 5 = 780	
26	5.00	pcs	Facia Cover	260.00 x 5 = 1,300	
27	5.00	pcs	End moulding	234.00 x 5=1,170	
28	5.00	рс	Gutter, Pre-Painted, Ordinary, 0.610m x 2.440m x 0.6mm thk	960.00 x 5 =4,800	
29	6.00	L	Roof Sealant	564.00 x 6 =3,384	



Republic of the Philippines

Department of Education
Cordillera Administrative Region
SCHOOLS DIVISION OF BAGUIO CITY

30	12.00	рс	PVC Sanitary Pipe 3"Ø x 3.0m, s1000	648.00 x 12 =7,776		
31	8.00	рс	PVC Sanitary Elbow 90°x 3"Ø	62.40 x 8 = 499.20		
32	2.00	рс	PVC Sanitary Wye 3" x 3"	106.80 x 2 =213.6		
33	2.00	рс	PVC Sanitary Elbow 1/8 x 3"Ø	50.40 x 2 = 100.8		
34	1.00	can	PVC Cement	144.00 x 1 = 144		
			***Note: inclusive of labor cost in each item -5% VAT -see attached plans for reference		TOTAL	

Purpose: Procurement of materials and replacement services for the replacement of roofing of the three storey building at Pinget National High School

After having carefully read and accepted your General Conditions, I/We quote you on the item at prices noted above.

Signature over Printed Name

Tin

Date/Telephone No.

Canvassed by:



Republic of the Philippines DEPARTMENT OF EDUCATION **EDUCATION FACILITIES DIVISION** DepEd Complex, Meralco Avenue, Pasig City



PROGRAM OF WORKS

BILL OF QUANTITIES

QRF 2023-SAVINGS

School : PINGET NATIONAL HIGH SCHOOL

School I.D 305286

CAR

Region Division BAGUIO CITY

Project Title:

: REPLACEMENT OF ROOFING OF THE THREE (3) STOREY BUILDING

Location : Upper Pinget, Baguio City

April 29, 2024 Date: **Budget Allocation:** PHP 147,077.85 PHP 0.00 Engineering and Administrative Overhead:

Approved Budget for the Contract:

PHP 147,077.85 Completion Period: 20 Calendar days

Minimum Required Manpower: Foreman

Tinsmith Helper

Minimum Required Equipment:

Drill Bit Riveter

TEM NO.	Item Description	% of Total	Unit	Quantity	Total Cost	Remarks
	I. DIRECT COST					
	GENERAL REQUIREMENTS	5.05%	lot	1.00	7,434.00	
8,0000	Roofing Works	90.18%	sq.m.	137.41	132,640.14	
es la sue n	Sub-Total				140,074.14	
	II. INDIRECT COST 22% of (I-Gen. Rgmnts.)					
	Overhead Expenses (8%) of (I-Gen. Rgmnts.)	0.00%				
	Contingencies (3%) of (I-Gen. Rqmnts.)	0.00%				
	Miscellaneous (1%) of (I-Gen. Rgmnts.)	0.00%				
	Contractor's Profit (10%) of (I-Gen. Rqmnts.) Sub-Total	0.00%				
	III. TAX 5% of (I+II)					
	Sub-Total	4.76%			7,003.71	
	IV. TOTAL CONSTRUCTION COST (I + II + III)	100.00%			147,077.85	

Prepared by:

ALEXANDER T. TUMAPANG

Engineering Assistant

Recommending Approval:

NIÑO M. TIBANGAY Chief, SGOD

Checked by:

Engineer III

Approved by:

SORAYA T. FACELO PHd, CESO VI Assistant Schools Division Superintendent OIC - Office of the Schools Division Suprintendent



Republic of the Philippines DEPARTMENT OF EDUCATION
EDUCATION FACILITIES DIVISION
DepEd Complex, Meralco Avenue, Pasig City



PROGRAM OF WORKS

DETAILED COST ESTIMATE

PROJECT : REPLACEMENT OF ROOFING OF THE THREE (3) STOREY BUILDING SCHOOL : PINGET NATIONAL HIGH SCHOOL LOCATION : UPPER PINGET, BAGUIO CITY OWNER : DEPARTMENT OF EDUCATION

	DESCRIPTION	UNIT	QTY	UNIT COST		TOTAL COST		GRAND TOTAL
				MATERIAL	LABOR	MATERIAL	LABOR	GIGHED TOTAL
	GENERAL REQUIREMENTS	lot	1.00					
	Mobilization/Temporary Structures, Utilities and Services/Demobilization	lot	1.00	820.00	548.00	820.00	548.00	1,368.0
	Safety and Health Project Billboard	lot lot	1.00 1.00	1,548.00 3,250.00	0.00 1,268.00	1,548.00 3,250.00	0.00 1,268.00	1,548.0 4,518.0 7,434.0
0.00	Sub-total	sq.m.	137.41					
8.00	Roofing Works			0.00	0.00	0.00	1.236.69	1,236.6
0100	Removal of Roofing Sheets	sq m	137.41	0.00	9.00	0.00	1,230.09	1,200.0
0600	G.I. Long-Span Roofing, Corrugated, Pre-Painted, 1220mm x 0.5mm	lm	143.00	520.00	104.00	74,360.00	14,872.00	89,232.0
0200	Removal of Ridge Roll	pc	5.00	0.00	18.00	0.00	90.00	90.0
8 0300	Removal of Flashing	pc	12.00	0.00	18.00	0.00	216.00	216.
8.0400	Removal of Gutter	pc	10.00	0.00	18.00	0.00	180.00	180
8.1000	Teckscrew 2-1/2"	рс	2,000.00	2.00	0.40	4,000.00	800.00	4,800
8.1100	Blind Rivets	рс	600.00	1.35	0.27	810.00	162.00	972.
8.0700	G.I. Ridge Roll, Preformed, Pre-Painted, 0.610m x 2.440m x 0.6mm BMT	рс	5.00	540.00	108.00	2,700.00	540.00	3,240.
0080.	G.I. Flashing, Preformed, Pre-Painted, 0.610m x 2.440m x 0.6mm BMT	рс	12.00	800.00	160.00	9,600.00	1,920.00	11,520.
8.1400	Gutter, Pre-Painted, Ordinary, 0.610m x 2.440m x 0.6mm thk	рс	10.00	800.00	160.00	8,000.00	1,600.00	9,600.
1300	Roof Sealant	L	5.00	470.00	94.00	2,350.00	470.00	2,820
2.0600	PVC Sanitary Pipe 3"Ø x 3.0m, s1000	pc	12.00	540.00	108.00	6,480.00	1,296.00	7,776
12.1000	PVC Sanitary Elbow 90 x 3"Ø	pc	8.00	52.00	10.40	416.00	83.20	499
12.1700	PVC Sanitary Wye 3" x 3"	pc	2.00	89.00	17.80	178.00	35.60	213
12.1400	PVC Sanitary Elbow 1/8 x 3"Ø	pc	2.00	42.00	8.40	84.00	16.80	100
12.3000	PVC Cement	can	1.00	120.00	24.00	119.85	24.00	143
1	Sub-total							132,640
1.	DIRECT COST							140,074
11.	INDIRECT COST 22% of (I - Gen. Req.)							0
111.	TAX 5% of (I + II)							7,003
IV.	TOTAL CONSTRUCTION COST (I + II + III)					On.		147,077.

Prepared by:

ALEXANDER T. TUMAPANG Engineering Assistant

Recommending Approval

NIÑO M. TIBANGAY Chief, SGOD

Checked by:

JORDAN B. GAS-IB

Engineer III

Approved by:

SORAYA F FACULD Phd, CESO VI Assistant Schools Division Superintendent OIC - Office of the Schools Division Suprintendent





